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2. (10 points) Let T,U : R2 s R2 he

el =l (b)) -1
7 (Bl) =4 (1) =[]

(2) Find the representing matrix A of T, and the representing matrix B of U.
(b) Compute the products AB and BA.

(¢) Describe the transformation represented by BA — AB geometrically.

the linear transformations satisfying

and

) et T- L2
T T N ] w1 Th \fl -'-’\'Z L&I(B Cc‘\‘“\"” \;E’[‘b
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9. (10 points) (a) Identify the redunds

L vector 2 Wlloyine list;
L, vectogs i L{g fnllufﬁug list Ist) OF

' 'l ' 5 ‘(l ,ﬁ-’;/
fl] () ol | () 0] Ind vil é/
2 {1o(l=2(] 11| 2] ] |o that =w) '
p p s e T B |
B LOJNL=3) (1)1 |4)] |1, A" 2V~ 20z y
N - f(f 274
(b) l'%r each of the following statemnents, circle T for True, ¥ for False, Y 4 / 2
T/ ¥ Clven two subspaces V and W of R”, the st of vectors :

eI

whete 1/ € Vf i € W, % f ﬁ:-ll'rh[mmr of R",
There exists a 3 « 2 matrix whose Image is ®?,

If o subspace W oof R? contains nelther o| BT |15 then W consists of the

o H

w0 vector only,
Chven an ni 2 n mabriz A, the intersection

ket(A) M image(A)

- consists of the zero vector only,
(I) g [F an nox e matrix A has rank m then the column vectors of A are linenrly
indepenident. il
_/ 1 3 I’ For every subspace V of R? {thete et i 8 % 8 matrix A such that lmage(A) =

. I'- i I. ._I. 'I -
o - b
: | 143 TR B | 1 B T g By o i 2 LT e b = i A1 et S e e The
] 13 -4 e Al i 'I|:l:"'| |1]I ¢ hl. ‘-i_ : I"'..E' i I:':Ei-:.' e st s - iy e, o P _-_._-.!I:_ B il
1 4] 1. 'J'l Wt UL I Jl L e i Thees s L s i sat] ) e f=t1TiEETl 1y r Py P 8 ) !
w0 bR R L e ri e L sl i et S T R [ 1] Rkl e o b
Atk L st R R i W L i AT . fi!
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